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& = >l HEE~ N s & = INE-£ HEEXEN s Z
= Al 561,699 532,299 29,400 | & Al 561,699 532,299 29,400
& 2 =] 0 0 0| Hl& X ALl 20,000 20,000 0
2 = 2 0 0|8 RH& AL HI 0 0 0
oo 3 0 0 o|er s 2 gl 0 0
BT ae ) 0 200 A0l 2 & 0 0 0
HE233 > 0 0 01 ol & = 0 0 0
ol XI 2 3l = 555,324 524,652 30,672 | O Xl = 541,699 512,299 29,400
o = = 0 0 Olrngzacays 0 0 0
o X = g 6,375 7,447 A1,072 |02 22348 0 0 0
JE = Y 0 0 0|21 & XN = 0 0 0
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700 EMAUS LR e 555,324 524,652 30,672
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714 OIXIZ3l= 555,324 524,652 30,672
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Oulxl= ===
555,324,000& * 14 = 555,304
= g & A 561,699 532,299 29,400
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CESNES 541,699 512,299 29,400
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—=0|012 541,699,008 * 14! = 541,699
I = & A 561,699 532,299 29,400
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